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Proposing the Method for Data Intensive Application’s Load
Distribution Considering the Costs Balances including Power Con-
sumption Cost on Hybrid Cloud
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Totalcost = F « Ty + (Tp * Np x Cr + P, «Cp) O

Ti:Execution time of Total Jobs, Tr:Execution time of Public
Cloud, Nr:Number of Instances used on Public Cloud, Cr:Charges

101 121 141 161 181

4.

of Public Cloud, Pr:Power Consumption on Private Cloud,

C'1,:Charges of Power Consumption on Private Cloud
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[1] Eucalyptus:http://www.eucalyptus.com/

2] 000000000 D0:.0000000D0D0O0D00OO0
ooboooooobooooobooooooooon
00000000 1300000000000 (DBS)
oboooB-3-2020110 110

Copyright ©2012 Information Processing Society of Japan.
All Rights Reserved.



